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1. st BARIE(340,32,9.4%) ' |

ROBEBE MR EAN XEFTENEMREIUREE
TEFEEBNES, POBBRXENEL, BEEEEIERR
UREAEZENER, RRBEE L%, MEERERNTXE
BAL BRXAREHEABSERENTERAURBERERE
o WRMEREFRMTF .

(1) The passage is (mainly) about ____ .

(2) What is the main purpose (BX idea) of the passage?

(3) The author’s (main) purpose in writing this passage is to

(4) The best title for this passage would be .
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(5) The major point discussed in the passage is .

(6) The passage tells us (that) .

(7) Which of the following is the the main idea of the passage?

(8) What is the passage mainly about?

(9) In this passage, the author is primarily concerned with
(10) The passage mainly discusses .
(11) The passage is meant to____ .
(12) The purpose of this article is to_ .
(13) What is the author trying to tell us?
(14) The main idea of the passage is that .
(15) What’s the author’s purpose in writing this passage?
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MO BN % , A B BRTE BE B R G, A B i REBRBENER,
A if o, H BRTE B 95 4 AR ] EB 45 BETEANEXEASHER
HIFFIE . T e BN BE M A BT S, R BRSNS AR
SCEEHY L BAR (R Oy SC8E R ) 5 T T by 4 B 96 4 SR B
iﬁﬁﬁ%ﬁ,ﬁﬁ'/ﬁ&%l}giﬁﬁjmU%%,@ng;@]iﬁﬂ@*'b
BR.F-BHEIEAEARREXEN b B (R b3 %
J@"“_J),%E“&B‘Jﬂi@fﬁ]ﬁﬁﬁﬁiﬁﬂg%iﬁﬁfﬁ,#E'—iﬁ&
B R B A PR,

R A E i, B S AR B

(1) iﬁi@ﬁiﬁﬁ'ﬁﬁ%iﬂg%%ﬁﬁﬁﬁiﬁﬁﬁf;

(2) ERBETN 5 XM E B, 3 B Y TS
SCHy LB, AR R RSB — BB LB 0

(3) *ﬁﬁﬁﬁﬁﬂ?%%ﬂﬁ?ﬂiﬁ%ﬁ,ﬁﬁ?ﬂﬁ:
[T ok <

2. 4R (340,195,57.4%)

P BB P, BT S Rk, XKEE =
Eﬁﬁﬁ%iﬁ—'ﬁiﬁ*@‘ﬂﬁﬁ%ﬁgiggiﬁﬁﬂ’ﬁm%ﬂ—%



W NS F KRS 5

BRRES ., ATE - BEEAKR, ERERBEXEPHEEE
BERT, AYEHHBERABARGESE, BAEREHRE. W
R ELRA R et s RRE R R B 5 AE
%o :
kB AN, EHAL T RN

(1) EXEREREAEERERNELRA Y, AES5H
LB 2B S B 4 AR 5

(2) BRI T xR, A B AR R T T B 35K
Bk 40 45 P i B0, 7 1F B T P 3 5 4 1R 9 R) SR BRAX
YE¥5 3R (paraphrase) o

3. HEPEE(340,64,18.8%)

WEIR TR A AR CE A A YRR B, 3B RE BT
b SR, RN X EFRTABRE MR, B HE INER,
T BB U] 4 Sk e B A0 YT HE TS, AU E RAT R CE
HATIR ), T J5 B 5 % 308 i 3 B v BRI 3 Se sl Y
TR, ESLKER S RS EEEERK, HEEREEE
Ao B e % R 18 LUK B, 0« imply (B5 8 ) , conclude (HEBTH ) , infer
(HEW) ,suggest(BER) % . B AR MFAWT .

(1) We can conclude (8% infer) from the passage that

(2) It can (8K may) be inferred (8% concluded) from the pas-
sage that

(3) What does the passage mainly suggest?
(4) What can be inferred(concluded) from the passage?
(5) The passage suggests that .

(6) The author of the passage implies that .

(7) It is implied in the first paragraph that

(8) We can conclude (& infer) from the first paragraph that
(9) It can be inferred (B concluded) from the last paragraph
that :
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fRE R E N, EHEUT RN .

(1) B a MR Y S EN OB ER, AEXR
T 3 28847 23 00 JBR O SR AT A O

(2) MR Y A — BRI - AW RELHTE
G NG - RESIZE;

(3) BHE XEPHFEIENETAEER T WL,

4. 17153 (340,26,7.6%)

FEESAOE LSS EES, REEE EENRE EET
R SCIE B AR A A) 8 DA R B R AR (R R RE S, B
A RS E T ORI EHIENE . ERNERFXDT .

(1) The word“-+-"most probably refers to (3 means)____ .

(2) The word“*-"refers to(B, means)____ .

(3) By“:--"the author means ___ .

(4) “--"probably means ____ .

(5) The phrase“::+"most probably refers to(& means) __ .

(6) The expression“:*-"probably means .

(7) The phrase“:-+"in the context means .

(8) The word is most closely related to the word(s)___ .

fREZAKBE R, R TR .

(1) X F A HE, BB H RN ITE, BU LT XHERER
HITHEN BB LT XPARARINKR R XXERE & LR
2 38

Q) MTFEXFEABREFRLRORE R, RE48 LT XHEH
& Xo

5. BRABKE(340,9,2.7%)

BRASEELRFR LR THEEEN M dTXXEERAY
BHRS,FAENZRAEZF KPP LA -ENSE, JAMER
MAESERE 5 i, 1 — R T AT, — R, M 35
SAEVLLGESBRE TEA S XEFEA TR, BANXE
HHFRAHATEN, XNRATESES XENPLBBURES
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BTSRRI I, BAEBEENR - HERVEEE
KEEWEE SR E, A EE B — 3678 218 5L B 37 ) 3%
FIRHIESASE, I seemingly, apparently, supposedly & #F “&
[1:1 ] sEEEEEE L FR AN -eeeee "ZE, BA,MElt’s generally be-
lieved that---”"PA & “It’s widely assumed that---" B 7E X E FF 3k, M|
RATESIHAOAREENERISE, MESEENWIERISER
MR, BB BT R B B “tone” 5 “attitude” 18
PIAR ., & ReyREFXWT .
(1) Which of the following best describes the author’s tone in
this passage?
(2) In the passage the author’s attitude towards=*+is____ .
(3) The author’s tone in this passage is .
(4) What is the author’s(overall)attitude towards ___?
6. R (340,5,1.4%)
BB Bl BT aE L, H X K H R e
N AS W T, 3F HBT I A B 38 BE R R AR 1At R R BA A
o BAEREEIBLER , KR REBR L3 B & i
AR —MEETE. MR ER K6 RR IR,
0 this, such, them, it % , A rf L X 417, XXEE LB H
MEAK, ¥RMERFRMT,
(1) The word“--"( probably) refersto .
(2) In the last sentence of the first paragraph, the pronoun
“oTrefersto .
(3) What does the word“:-"refer to?
fs e Ay, AL T IR,
(1) B8 £ T3, e R RERERNZARLAEE;
(2) F¥a A, B8 AR rY 8 7 5 4 1) 48 18 B9 B 1
B g B XM 5 AR AR FF—B
7. B F R (340,4,1.2%)
MEREERTP RO XERBHETBEHR, B B%



8 o 4B, 1R AR

BAMTRAMEENETERSAHABEEZRE, BARTATXH,
HEI EREN TEHAXEWNDOCBRERENERXERFAY,
BRTBEBEEMNAEAEN TREEEFAVREN TEMEE
B, MmO EBBRDRDI B B RS, ERATE
¥k, RABFLE G, NMAEZREE, RBEXREEDN
K, AXBEBSBED, HAROEREFROT .

(1) The second paragraph mainly tells us that

(2) The third paragraph is mainly about

(3) The author’s purpose in writing the second paragraph is to
show that ____

8. IETRHIHTEE(340,4,1.2%)

ERAMEESEMAFZ AN BR XENEAERESN, EK
B RB| SRR OCBRBE—BEN B, X4 X X EP R E—
HLEA AT, BB 5 IR A, A Al A A n X
# 3, I TRUE,NOT TRUE,NOT,EXCEPT %, % X¥8H
B EARMHENE, BHERKEENR S XENE T
TARAMARER, XXFEEELBR, ¥ LORE IR0
F:

(1) Which of the following statements is NOT TRUE?

(2) According to the passage, which of the following state-
ments is TRUE?

(3) Which of the following is NOT TRUE according to the
passage?

(4) What is TRUE about--according to the passage?

(5) The following statements are true EXCEPT

(6) Which of the following is NOT included in the text?

9. CEERIHA(340,1,0.3%)

XERBES AR L EEREXERLBBYER EH
WisCE R, XRBEMBLSBR, FRAERFANT.

(1) The text is taken from
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(2) The passage probably appears in .
(3) The passage you have just read would most likely be found

in
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(—)1989.1-1

More than 30 000 drivers and front seat passengers are killed or
seriously injured each year. At a speed of only 30 miles per hour it is
the same as falling from the third-floor window. Wearing a seat belt
saves lives; it reduces your chance of death or serious injury by more
than half.

Therefore drivers or front seat passengers over 14 in most vehi-
cles must wear a seat belt. If you do not, you could be fined up to
£50. It will not be up to the drivers to make sure you wear your
belt. But it will be the driver’s responsibility to make sure that chil-
dren under 14 do not ride in the front unless they are wearing a seat
belt of some kind.

However, you do not have to wear a seat belt if you are revers-
ing your vehicle; or you are making a local delivery or collection us-
ing a special vehicle; or if you have a valid medical certificate which
excuses you from wearing it. Make sure these circumstances apply
to you before you decide not to wear your seat belt. Remember you
may be taken to court for not doing so, and you may be fined if you
cannot prove to the court that you have been excused from wearing
it.

1. This text is taken from __ .
A) a medical magazine C) a legal document
B) a police report D) a goverment information booklet
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2. Wearing a seat belt in a vehicle .
A) reduces road accidents by more than half
B) saves lives while driving at a speed up to 30 miles per hour
C) reduces the death rate in traffic accidents
D) saves more than 15 000 lives each year
3. It is the driver’s responsibility to____.
A) make the front seat passenger wear a seat belt
B) make the front seat children under 14 wear a seat belt
C) stop children riding in the front seat
D) wear a seat belt each time he drives
4. According to the text, which of the following people riding in
the front does not have to wear a seat belt?
A) Someone who is backing into a parking space.
B) Someone who is picking up the children from the local
school.
C) Someone who is delivering invitation letters.
D) Someone who is under 14.
5. For some people, it may be better ____ .
A) to wear a seat belt for health reasons
B) not to wear a seat belt for health reasons
C) to get a valid medical certificate before wearing a seat belt
D) to pay a fine rather than wear a seat belt
#iE AR
front seat passengers B EFRE
the same () as 5e--+-HF (#--)
He'll buy the same watch as [ have. ¥ X —RFIRFH
T %
His watch is the same as mine. fbH FRERWF LR —
AT (RFE—-AEF),
2% . the same Z )G WX R RFABEAI LA as, AT DI
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that, $ that BHEHIE “F—®", M A as BEEE “F—£7,
il 4n . -
This is the same watch that I have lost. (#§E—#7)
XRBERIBRF R,
This is the same watch as I have lost. (f8F]—23)
XRESRIMERMFREAMTF (BRBS)HFE,
wear a seat belt & &£
recuce -+ by e T, oo BEAE
We reduced the production cost by 20% .
RAMEE = RAREIE T 20% o
vehicle [ 'vitikl] n. BB TR ; ¥, ah%E
fine [fain] n. $U&, 1K . 4. AT &
up to A, &P, HI;ZH- B A, BT
Up to ten students failed in the examination. ik 10 M3
B RA Bk,
up to now (then) HEZFIIAE (FRaT)
It’s up to me to help him with his English. & (T # it
HRIE, :
She isn’t up to that job. HREAEAR T I TH,
make sure W, FHREL;FEHE,FEE
Make sure (that) the electricity is cut off before you leave
the lab.
FWIBHLREZHN, EFEERRRTUINT,
ride [raid] (rode [roud], ridden ['ridn]) v. ¥ (&, Bf7
%) (%) vi. ¥5, BETE (ANiE on); ®E (H
4+1) on 2 in),
reverse [ri'ves] oz . BB, fEE; ME, B
local ["toukoal] adj. M4MHT, A HBAY ;b 5 H
delivery [di'liveri] n. &4t,358 ; #i8,53%
valid ['veelid] adj. HBH ; FREH, WBEME



